BCOM  - SEMESTER VI

CM06BBA02 – DATABASE MANAGEMENT SYSTEM FOR BUSINESS

MULTIPLE CHOICE QUESTIONS
1) A Database Management System (DBMS) is
A. Collection of interrelated data
B. Collection of programs to access data
C. Collection of data describing one particular enterprise
D. All of the above
2) Which of the following is not a level of data abstraction?
A. Physical Level
B. Critical Level      
C. Logical Level
D. View Level
3) Disadvantages of File systems to store data is:
A. Data redundancy and inconsistency
B. Difficulty in accessing data
C. Data isolation
D. All of the above
4) In an Entity-Relationship Diagram Rectangles represents 
A. Entity sets
B. Attributes
C. Database
D. Tables
5) Which of the following is not a Storage Manager Component?
A. Transaction Manager
B. Logical Manager
C. Buffer Manager
D. File Manager
6) Data Manipulation Language enables users to 
A. Retrieval of information stored in database
B. Insertion of new information into the database
C. Deletion of information from the database
D. All of the above
7) Which of the following is not a Schema?
A. Database Schema
B. Physical Schema
C. Critical Schema
D. Logical Schema
8) …………….. is an access object that stores questions about the stored data.

a) Query

b) Report
c) Form
d) Table

9.
Which of the following is Database Language?
A. Data Definition Language
B. Data Manipulation Language
C. Query Language
D. All of the above
10  Which of the following in not a function of DBA?
A. Network Maintenance
B. Routine Maintenance
C. Schema Definition
D. Authorization for data access
     11.
Which of the following is a Data Model?
A. Entity-Relationship model
B. Relational data model
C. Object-Based data model

D. All of the above
12. The number of entities associated in relationship is called as it’s.....................

A) Cardinality

B) Degree
C) Tuples

D) Entity
13.
…………… is a individual access object that display information 

          stored in a table in a non table format.






A)Record

B)Form
C)Query

D)Recodset







      

14. …………………. Is an access object that stores the details for displaying 

       or printing data in an organized manner.

A)Record

B)Form

C)Report
D)Recodset







      

15. In RDBMS, Data is presented as a collection of............

A) Table

B) Attributes
C) Relations
D) Entities

16. To select all columns from the table the syntax is:

A) Select all from table name
B) Select * from table name
C) Select from table name

D) Non of the above

17. Identify the criteria for designing database from the point of view of user

A) No redundancy

B) No inapplicable attributes

C) Uniformity in naming & definitions of the data items

D) All of the above
18. DBMS is a collection of ………….. that enables user to create and maintain a database.

A) Keys

B) Translators
C) Programs
D) Language Activity

19. In a relational schema, each tuple is divided into fields called

A) Relations

B) Domains
C) Queries

D) All of the above

20. In an ER model, ……………. is described in the database by storing its data.

A) Entity
B) Attribute

C) Relationship

D) Notation

21. A top-to-bottom relationship among the items in a database is established by a

A) Hierarchical schema
B) Network schema

C) Relational Schema

D) All of the above

22. …………..defines the structure of a relation which consists of a fixed set of attribute-domain pairs.

A) Instance

B) Schema
C) Program

D) Super Key

23. ……………… clause is an additional filter that is applied to the result.

A) Select

B) Group-by

C) Having
D) Order by

24 A logical schema

A) is the entire database

B) is a standard way of organizing information into accessible parts.
C) describes how data is actually stored on disk.

D) All of the above

25. The candidate key is that you choose to identify each row uniquely is called ……………..

A) Alternate Key

B) Primary Key
C) Foreign Key

D) None of the above

26. To eliminate duplicate rows ……………… is used

A) NODUPLICATE

B) ELIMINATE

C) DISTINCT
D) None of these 
27. A ………………. does not have a distinguishing attribute if its own and mostly are dependent entities, which are part of some another entity.

A) Weak entity
B) Strong entity

C) Non attributes entity

D) Dependent entity

28. ………………… is preferred method for enforcing data integrity

A) Constraints
B) Stored Procedure

C) Triggers

D) Cursors

29. The number of tuples in a relation is called it’s …………. While the number of attributes in a relation is called it’s ………………..

A) Degree, Cardinality

B) Cardinality, Degree
C) Rows, Columns

D) Columns, Rows

30. One aspect that has to be dealt with by the integrity subsystem is to ensure that only valid values can be assigned to each data items. This is referred to as

A) Data Security

B) Domain access

C) Data Control

D) Domain Integrity
31. Centralizing the integrity checking directly under the DBMS ………….. duplication and ensures the consistency and validity of the database.

A) Increases

B) Skips

C) Does not reduce

D) Reduces
32. ---------------- is used to retrieve tuples from the relation.

A) Create

B) Drop

C) Select
D) All of the above

33. ……………… defines rules regarding the values allowed in columns and is the standard mechanism for enforcing database integrity.

A) Column

B) Constraint
C) Index

D) Trigger

34. The relational model is based on the concept that data is organized and stored in two-dimensional tables called ……………………….

A) Fields

B) Records

C) Relations
D) Keys

35. Which of the following is not comparison operator?

A) <>

B) <
C) =<
D) >=

36. ………………… is a special type of integrity constraint that relates two relations & maintains consistency across the relations.

A) Entity Integrity Constraints

B) Referential Integrity Constraints
C) Domain Integrity Constraints

D) Key Constraints

37. ……………..specifies a search condition for a group or an aggregate.

A) GROUP BY Clause

B) HAVING Clause
C) FROM Clause

D) WHERE Clause
38. Which are the not features of a DBMS which provide a number of advantages for data management:

A. DML

B. DDL

C. SDL
D. None of these
39. Minimal data redundancy means improved _________:

A. Data independence
B. Data consistency
C. Data integration

D. Data sharing

40. The provision of _______ is a major objective for database system:
A. Data independence
B. Data consistency

C. Data integration

D. Data sharing

41. ____ translates into low-level instruction that a query processor understands:

A. DBA

B. DBMS

C. DBS
D. DDL compiler
42. Which is the central component of the DBMS software that can also be termed as the database control system?

A. Data consistency

B. Data integration

C. Data sharing
D. Data manager
43. Which is stored information about description of data in the database:

A. Data files
B. Data dictionary
C. Database

D. Data administrator

44. After conversion of high level queries into low level commands for file access and is called compiled_____:

A. DDL
B. DML
C. SDL

D. VDL

45. Which is installs, configures, troubleshoots and maintains a database system:
A. DBA
B. DDL

C. DML

D. SDL

46. In which end is really just any application that runs on top of the DBMS and acts as a user interface:

A. Back end
B. Front end
C. Both

D. None

47. Data are stored in________ as database:
A. Data files
B. Data dictionary

C. Database

D. Data administrator

48. Which is the person responsible for overall control f the database system:

A. DDL

B.  DBMS
C. DBA
D. SDL

49. DBA stands for:

A. Database maintenance
B. Database administrator
C. Database backup

D. Database designer

50. Which is a DBMS keeps back-up copies of the database:
A. Backup
B. Recovery

C. Both

D. None

51. In which the database can be restored up to the last consistent state after the system failure:

A. Backup
B. Recovery
C. Both

D. None

52. How many levels of abstraction in DBMS:

A. 2
B. 3
C. 4

D. 5

53. Which are the three levels of abstraction:

A. Physical

B. Logical

C. External
D. All of these
54. How many types of data independence:

A. 1
B. 2
C. 3

D. 4

55. Which are the types of data independence:

A. Physical

B. Logical
C. Both
D. All of these

56. Which mapping exists between the conceptual and internal levels:

A. Conceptual

B. Internal
C. Both
D. None

57. The related  and interconnected software components of a DBMS are described by the _______:

A. Logical architecture

B. Physical architecture
C. Both
D. None
58. The overall description of a database is called______:

A. Data definition

B. Data manipulation

C. Data integrity
D. Database schema
59. A data dictionary is a repository that manages _____:

A. Database

B. Memory
C. Metadata
D. All of these

60. A tuple is a(n):

A. column of a table

B. two dimensional table
C. row of a table
D. key of a table
61. …………… is an object distinguishable from the real world
A. Attribute
B. Domain

C. Entity

D. Query


62. …………… is the interface between the low level data, application programs and queries.

A. DBA

B. File manager
C. Database manager
D. DDL complier


63) ……….. attributes can be divided into subparts.

A. Single valued

B. Multi valued
C. Composite
D. Single


64) ………….. module of Database manager checks that the user has necessary authorization 

to carry out the required function.

A. Command processor
B. Authorization control
C. Integrity checker

D. Query Optimizer

65) ………….. module checks the optimal strategy for query execution

A. Command processor

B. Authorization control

C. Integrity checker
A. Query Optimizer
66 ……………. Module ensures that the database remains in a consistent state in the presence of failures.

A. Scheduler

B. Buffer manager
C. Recovery manager
D. Command processor

67 …………. Administers three levels of the database
A. DBA
B. Database manager

C. File manager

D. None of these

68 The relational schema for a relation employee will be: employee (id: NUMBER, name: TEXT, age: NUMBER, Address: TEXT) and its degree will be …………

A. 3

B. 7
C. 4
D. 2

69 An entity in A is associated with almost one entity in B and an entity in B is associated with almost one entity in A is known as………..
A. One to One
B. One to Many

C. Many to One

D. None of these

70 An entity in A is associated with almost one entity in B and an entity in B is associated with any number in A.

A. One to One

B. One to Many
C. Many to One
D. None of these
71 What Are The Different Views To Display A Table
 A) Datasheet View 
 B) Design View 
 C) Pivot Table & Pivot Chart View 
 D) All Of Above 
72 Which Of The Field Has Width 8 Bytes?
 A) Memo 
 B) Number 
 C) Date/time 
 D) Hyperlink 
73 Which Of The Following Is Not A Type Of Microsoft Access Database Object?
 A) Table 
 B) Form 
 C) Worksheets 
 D) Modules 

74  What Is The Maximum Length A Text Field Can Be?
 A) 120 
 B) 255 
 C) 265 
 D) 75 

75  In A Database Table, The Category Of Information Is Called __________
 A) Tuple 
 B) Field 
 C) Record 
 D) All Of Above 
76 Any report, including a basic report, can be modified in __
a. Form View
b. Layout View
c. Print Preview
d. Report View
77 Which of the following data types automatically generates a consecutive number?. a.Autonumber
b. Memo
c. Number
d. Text
78 Which of the following field properties displays a model or pattern for entering data?
a. Field Size
b. Format
c. Input Mask
d. Validation Rule
79 The common field linking the two datasheets is the _______________ key field in the main datasheet and the _______________ key field in the linked datasheet.
a. primary, foreign
b. primary, common
c. foreign, primary
d. foreign, common
80 Referential integrity can be enforced if both _______________ belong to the same Microsoft Access database.
81 a. queries
b. fields
c. records
d. tables
82 Which of the following database objects extracts information from one or more tables or queries?
a. Forms
b. Queries
c. Reports
d. Tables
83 In a query, using the keyword _______________ will return records in which the field value is between two numbers.
a. Between
b. Is Null
c. Like
d. Not
84 Relationships between tables can be graphically viewed in the _______________ window.
a. Design
b. Joins
c. Relationships
d. Tables
85 Using the keyword _______________ will return records in which the field value equals a defined text.
a. Between
b. Is Null
c. Like
d. Not
86 Microsoft Access Is A
 A) RDBMS 
 B) OODBMS 
 C) ORDBMS 
 D) Network Database Model 
87 What Are The Columns In A Microsoft Access Table Called?
 A) Rows 
 B) Records 
 C) Fields 
 D) Columns 
88 Which Of The Following Is Not A Field Type In Access

 A) Memo

 B) Hyperlink

 C) Ole Object
 D) Lookup Wizard
89 How Can You Define A Field So That When Entering Data For That Field It Will Display ****** Instead Of Actual Typed Text

 A) Input Mask
 B) Validation Rule

 C) Indexed

D) Ime Mode
92) What do you mean by one to many relationship between Student and Class table?
 A) One student can have many classes 
 B) One class may have many student 
 C) Many classes may have many students 
 D) Many students may have many classes 

93) ………………… specifies that each attribute in a relation must contain an atomic value only from the corresponding domains.
A) Domain constraint
B) Key constraint

C) Integrity constraint

D) All of the above

94) In ……………. Model data is represented as records and relationship as links.
A) Network Model
B) Hierarchical Mode

C) Relational Model

D) Entity Relationship Model
95) ……………… states that no primary key value can be null.

A) Domain Constraint

B) Referential Integrity Constraint
C) Entity Integrity Constraint
D) None of These

96) …………………. States that the tuple in one relation that refers to another relation must refer to an existing tuple in that relation.

A) Domain Constraint
B) Referential Integrity Constraint
C) Entity Integrity Constraint

D) None of These

97) In ER diagram,                        is used for……………
A) Weak entity
B) Entity
C) Key Attribute

D) Relationship

98)  ……………… can be defined as a rule for communication among entities.
A) Relationship
B) Cardinality

C) Degree

D) None of these

99) Relation schema is also called…………..
A) Intension
B) Extension

C) Relation state

D) None of these

100) Relation state is also called ………..

A) Intension
B) Extension
C) Relation schema

D) None of these
101) An attribute is a(n):

A) two dimensional table

B) row of a table

C) key of a table
D) column of a table
102) Which of the following is NOT a basic element of all versions of the E-R model?

A) Entities

B) Relationships

C) Attributes
D) Primary key
103) Which of the following is NOT a type of  constraint?

A) PRIMARY KEY

B) FOREIGN KEY
C) ALTERNATE KEY
D) UNIQUE

104) The following are functions of a DBMS except ________
A) creating and processing forms
B) processing data

C) creating databases

D) administrating databases
105) Every time attribute A appears, it is matched with the same value of attribute B, but not the same value of attribute C. Therefore, it is true that:
A) A → B
B) A → C

C) A → (B, C).

D) (B,C) → A.
106) Row is synonymous with the term:
A) Record
B) Column

C) Field

D) Relation

107) The primary key is selected from the:
A) Composite keys
B) Candidate keys
C) Foreign keys

D) Determinants
108) Which of the following is a group of one or more attributes that uniquely identifies a row?
A) Key
B) Tuple

C) Determinant

D) Relation

109) When the values in one or more attributes being used as a foreign key must exist in another set of one or more attributes in another table, we have created a(n):

A) Transitive dependency

B) Insertion anomaly.
C) Referential integrity constraint.
D) Normal form

110) A relation is considered a:

A) Column

B) One dimensional table
C) Two dimensional table
D) Three dimensional table

111) In the relational model, relationships between relations or tables are created by using:

A) Candidate keys
B) Foreign keys
C) Composite Keys

D) Determinants

112) Table is synonymous with the term:

A) Record

B) Column

C) Field
D) Relation
113) Which of the following is not a restriction for a table to be a relation?

A) The cells of the table must contain a single value.

B) All of the entries in any column must be of the same kind.
C) The columns must be ordered.
D) No two rows in a table may be identical.

114) For some relations, changing the data can have undesirable consequences called:

A) Referential integrity constraints.
B) Modification anomalies.
C) Normal forms.

D) Transitive dependencies.
115) In which model of database data is stored in tables:

a.       Network model 

b.      Relational model
c.       Hierarchical model

d.      None of these

116) How many types of keys in relation database design:

a.       Primary key

b.      Candidate key

c.       Foreign key

d.      All of these
117) Which key is referencing a primary key in a table:

a.      Primary key

b.      Candidate key

c.       Foreign key
d.      All of these
118) In which ways two tables may be related:
a.       One-one

b.      One-many

c.       Many-many

d.      All of these
119) Which rules are defined in relational models they from as an essential part of any relation database:

a.      Integrity rules
b.      Database

c.       Record

d.      Memory

120) Which are the types of integrity rule:

a.       Entity integrity

b.      Referential integrity
c.       Both

d.      None

121) The DBMS utility, ____________ allows to reconstruct the correct state of database from the backup and history of transactions.

A) Backup

B) Recovery
C) Monitoring

D) Data loading

122) In RDBMS, Data is presented as a collection of ............

A) Table

B) Attributes
C) Relations
D) Entities

123. Identify the criteria for designing database from the point of view of user

A) No redundancy

B) No inapplicable attributes

C) Uniformity in naming & definitions of the data items

D) All of the above
124. Which of the following is not comparison operator?

A) <>

B) <
C) =<
D) >=

125. ………………… is a special type of integrity constraint that relates two relations & maintains consistency across the relations.

A) Entity Integrity Constraints

B) Referential Integrity Constraints
C) Domain Integrity Constraints

D) Key Constraints

126. ……………..specifies a search condition for a group or an aggregate.

A) GROUP BY Clause

B) HAVING Clause
C) FROM Clause

D) WHERE Clause


127. A ____ database state is one in which all data integrity constraints are satisfied.

A.   fixed

B.   complete
C.   consistent
D.   Secure

128. All transactions are controlled and executed by the DBMS (subject to some limitations) to guarantee database ____.
A.   integrity
B.   uniqueness

C.   consistency

D.   Design
129. Which refers to a property of computer to run several operation simultaneously and possible as computers await response of each other:

a.      Concurrency
b.      Deadlock

c.       Backup

d.      Recovery

130. Which is a duplicate copy of a file program that is stored on a different storage media than the original location:

a.       Concurrency

b.      Deadlock

c.       Backup
d.      Recovery

131. The ..................... is essentially used to search for patterns in target string.
A) Like Predicate
B) Null Predicate

C) In Predicate

D) Out Predicate

132. ................. requires that data should be made available to only authorized users.

A) Data integrity

B) Privacy
C) Security
D) None of the above

133. .............. is a combination of two of more attributes used as a primary key
A) Composite Key
B) Alternate Key

C) Candidate Key

D) Foreign Key
134. The primary key must be
A. Unique

B. Not Null
C. Both A & B
D. None of these

135. ………………..  means the same information may be duplicated in several places.

A. Integrity
B. Redundancy
C. Consistency

D. Isolation

136. The abstract view of the data that hides certain details is known as ……………
A. Data independence
B. Isolation

C. Integrity

D. Consistency

137. DBMS protects users from the effects of system failures is known as …………..
A. Crash recovery
B. Concurrent access

C. Data administration

D. Data Integrity

138. The application programs are insulated from changes in the way the data is structured and stored is known as ………
A. Data independence
B. Isolation

C. Integrity

D. Consistency

139. …………… deals with the way data is stored and presented to users.
A. Logical architecture
B. Physical architecture

C. Data independence

D. None of these

140. ……………. Concerned with the software components that makeup a DBMS.

A. Logical architecture
B. Physical architecture
C. Data independence

D. None of these

141. …………… is the highest level of abstraction.
A. External level
B. Internal level

C. Conceptual level

D. None of these

142. ……………. Level  allows the users to see only the data of interest to them.
A. External level
B. Internal level

C. Conceptual level

D. None of these

143. ……………. Includes methods for deriving the objects like entities attributes and relationships.

A.  External level
B. Internal level

C. Conceptual level

D. None of these

144. ………….. presents a logical view of the entire database.

A. External level

B. Internal level
C. Conceptual level
D. None of these

145. The first stage in the design of a database is to define a ……………

A. External view

B. Internal view
C. Conceptual view
D. None of these

146. The collection of files permanently stored on secondary storage devices is known as …………….
A. Physical database
B. Logical database

C. Conceptual view

D. None of these

147. Database system provide an abstract view of  the data for its users is known as ……………

A. Data consistency

B. Data isolation
C. Data abstraction
D. None of these

148. The overall design of the database is called ……….
A. Database schema
B. Database state

C. Database view

D. None of these

149. …………… is an object in the real world.
A. Entity
B. Attribute

C. Relationship

D. All of these

150. ……………. Attributes are not divided into subparts.
A. Simple
B. Derived

C. Multivalued

D. Single valued

151. ……………. Manages the allocation of space on disk storage.
A. File manager
B. Database manager

C. DBA

D. None of these

152. Integrity enforcement is the responsibility of …………
A. Database manager
B. File manager

C. System manager

D. None of these

153. …………….. is responsible for ensuring the concurrent operations or transactions on the database without any conflict.

A. Recovery manager

B. File manager
C. Scheduler
D. Parser

154. ………… is responsible for the transfer of data between main memory and secondary storage such as disk and tape.

A. Recovery manager

B. File manager

C. Scheduler
D. Buffer manager
155. Schema definition is the responsibility of…………
A. DBA
B. Database manager

C. File manager

D. Buffer manager

156. Granting of authorization for data access is the responsibility of ………..
A. DBA
B. Database manager

C. File manager

D. Buffer manager

157. …………. Is a set of permissible values that can be given to an attribute.
A. Domain
B. Attribute

C. Tuple

D. None of these

158. …………….. Specifies the relations name its attributes and the domain of each attribute.
A. Relation schema
B. Relation

C. Relation instance

D. None of these

159. The relationship among three entities is known as ………….

A. Binary relationship
B. Ternary relationship
C. Unary relationship

D. None of these

160. …………… specifies the number of instances of an entity associated with another entity participating in a relationship.
A. Cardinality
B. Degree

C. State

D. View

